
School Bake Sale

Rashad is baking cupcakes for a school bake sale. 
He makes 24 cupcakes on Friday. 
He makes the same number of cupcakes on Saturday. 
Rashad plans to display his cupcakes on a stand. Each stand holds 8 cupcakes. 
When Rashad gets to the bake sale, there are 3 cupcake stands waiting for him. 
Alonzo said “You only need three stands because 24 ÷ 8 = 3.” Alonzo is incorrect in his reasoning. 
· Explain why Alonzo is incorrect in his reasoning about the number of cupcake stands Rashad needs. 
· Find the number of cupcake stands Rashad needs. 
· Explain why your reasoning is correct.
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